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General Instructions

each. As per the question, there can be one answer.

be answered with the help of the given passage.

Read the following instructions carefully and follow them.
1. The question paper is divided into four sections-Section A, B, C and D.
2.There are 35 questions in all. All questions are compulsory.

3.Section A includes question nos. 1-16. These are Objective Type U o i e I

4 Section B includes question nos. 17-25. These are Very Short Answer Ty
carrying 2 marks each. Answer to each question should not exceed 30 words. i

5.Section C includes question nos. 26-32. These are Short Answer Type Questio
marks each. Answer to each question should not exceed 80 words.

6.Section D includes question nos. 33-35. These are Long Answer Type Questions, carrying 6
marks each. Answer to each question should not exceed 200 words each.

7.Question no. 33 is to be answered with the help of the given graphics. Question no. 34is to
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Section A Objective Type Questions (Each Que. carries 1M)

1.What is the etymological origin of the English

word ‘caste’? (1)

(a) It originates from the Greek word ‘casta’,
meaning social hierarchy.

(b) It is derived from the Latin word “castus’,
signifying purity and social status.

(c) The term is borrowed from the Portuguese
‘casta’, denoting pure breed or lineage.

(d) Its roots can be traced to the Sanskrit ‘chasta’,
representing societal divisions.

2.Who was Ayyankali and what significant

reforms did he contribute to? (1)

(a) Ayyankali was a prominent leader of the lower
castes and Dalits in Kerala, known for his efforts
in securing political rights for Dalits.

(b) Ayyankali was an early 20th-century politician
who spearheaded movements against British
colonial rule in Kerala.

(c) Ayyankali was a renowned artist and poet from
Kerala who revived traditional art forms in the
region.

(d) Ayyankali was a social reformer who
campaigned for the rights of women to inherit
property in Kerala.

J.Which one of the following social organisations
filed the petition to the British government
against the legislation of Sati?

(a) Swatantra Sabha (b) Brahmo Samaj
(c) Arya Samaj (d) Dharma Sabha

4.In the question below, there are two statements
marked Assertion (A) and Reason (R). Read the
statements and choose the correct option. !

Assertion (A) Jats and Rajputs of Uttar Pradesh
are dominant castes.
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Reason (R) The dominant cag
most economically and
sroups, who dominate

tes are the

poiitica]ly powerful
local society.

Codes

) Both (A) and (R) are true and (R) is th
correct explanation of (A) S

) Both (A) and (R) are true, b :
» but (R
correct explanation of (A) (R) is not the

¢) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

What primarily contributed to the formation
of ethno-national identity in Indja? (1
[. Religion v

II. Language
[II. Economic factors
IV. Regional and tribal identity

Codes
(a) Only I (b) Both Il and IV
(c) Only III (d) Only IV

Sanskritisation is criticised for
exaggerating social mobility without
addressing structural inequality,
reinforcing upper-caste norms as superior
and justifying caste-based exclusion. It
often leads to discriminatory practices, like
the seclusion of women and dowry :
imposition and undermines the value of
dalit culture and traditional occupations.

Based on the given passage, answer Q6
and Q7.

. Which of the following best describes a

criticism of Sanskritisation related to its

model of social hierarchy? |

(a) Sanskritisation promotes equality and
challenges discriminatory beliefs about
pollution and purity.
Sanskritisation justifies a m :

fe inequality and ]exclur;ion, v 'dat.'mg beliefs
in pollution and purity among different

groups. | : |
(c) Sanskritisation eliminates caste hierarchies

by advocating for the equal treatment of all
social groups. :
(d) Sanskritisation encourages the preservation
of traditional practices mthout
perpetuating social inequalities.

odel based on

1. Which of the following statements

accurately reflect the criticisms of

Sanskritisation?

I. Sanskritisation results in meaningful
structural change and reduces overall
caste inequality.

II. It promotes upper-caste norms as
desirable, reinforcing existing caste
hierarchies.

Il. Itleads to the adoption of
discriminatory practices like the
seclusion of women and dowry.

IV. Sanskritisation enhances the value and
preservation of dalit cultural practices
and traditional occupations.

(a)Tand IV

(b) 11 and ITT

(c) L, II and III

(d) T, TIT and TV

. Which statement accurately describes the

concept of transgender individuals? (1)
I. Transgender individuals are born with
dual biological characteristics
II. Transgender identity is solely
determined by surgical procedures
[I. Transgender identity involves a
voluntary change of gender status
IV. Transgender identity is determined by
societal norms

Codes

(a) Only I

(b) Only III

(c) Only IV

(d) None of these

Which of the following is not identified as

a contributing factor to the decline in the

child sex ratio in India? (1)

(a) Neglect of girl babies leading to higher
death rates in infancy

(b) Sex-selective abortions based on ultrasound
technology

(c) Female infanticide due to cultural beliefs

(d) None of the above




10.In the question below, there are two
statements marked Assertion (A) and
Reason (R). Read the statements and

choose the correct option. (1

Assertion (A) Initially, the lack of proper

medical facilities and the prevalence of

diseases led to a relatively short life span.

Reason (R) The age structure of any society

changes in response to the changes in the

levels of development and the average life

expectancy.

Codes

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A) is false, but (R) is true

11.In the question below, there are two
statements marked Assertion (A) and
Reason (R). Read the statements and
choose the correct option. (1)
Assertion (A) Rules are strictly followed in
smaller mines and quarries.
Reason (R) Workers in underground mines
face very dangerous conditions due to
flooding, fire, the collapse of roofs and sides,
emission of gases and ventilation failures.
Codes '
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true
12.What were some of the impacts of British
industrialisation on India? (1)
I. Growth of traditional cotton and silk
exports
II. Boom in old urban centers like Surat
and Masulipatnam

III. Decline of cities like Thanjavur, Dhaka
and Murshidabad

14. Adivasis and their struggles are different

15.Based on the historical data provided, what

Codes

(a) Only I and Il (b) Only II |
(c) Only IlI (d) All of these nj
............. refers to a situation, where a |arge
cohort of women of reproductive age wil]
fuel population growth over the next
generation, even if each woman has fewer

children than previous generations did. (1)
(a) Demographic dividend

(b) Population change

(c) Population momentum

(d) Population growth

from the Dalit struggle because (1)

(a) they were not discriminated against like the
Dalits.

(b) they did not face social exclusion like the
Dalits.

(c) adivasis were concentrated in contiguous
areas and could demand statehood.

(d) their social and economic conditions were
better than the Dalits.

India, with a population of 1.21 billion as
of the 2011 Census, is the second most
populous country. From 1901 to 1951, its
annual population growth rate averaged
just 1.33%, with a brief negative rate of
—0.03% between 1911 and 1921 due to the
1918-19 influenza epidemic. After
independence, the growth rate rose to 2.2%
from 1961 to 1981. Despite a decline since
then, it remains high compared to other
developing nations. The demographic
transition is marked by the divergence of
birth and death rates from around
1921-1931.

Based on the given passage, answer Q 15
and 16

i

does the significant increase in India's !
population growth rate after independence
suggest about the country's demographic |
trends? (1}
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he demographic transition b
ecline of death rates dye to
healthcare and sanit

rrowth rates,

€gan with the
. Improved
ation, leading to higher

[he rise in population growth rate
post-independence was Primarily dye tqo
ncreased emigration and red i
é uc
ingg ed birth
The higher growth rates from 1961 to 1981
indicate that the impact of the 1918-19
influenza epidemic had long-lasting etfect
on population dynamics, ] 3
(d) The steady decline in birth and death
rates from 1921 onwards resulted in 4

stable population growth rate after
independence.

16. Based on the passage, which of the
following statements accurately reflects the

implications of India’s population growth
trt’11d5? (L)

=

11. The term “modernisation” was associated
with positive and desirable values in the
19th and 20th century. In the earlier period,
modernisation referred to the
improvement in technology and
production process, but now it refers to the
path of development that much of the West
Europe or North America has taken.

What are the two characteristics of
Modernisation? (2)

Or MN Srinivas defines Westernisation as “the
changes brought about in Indian society
and culture as a result of over 150 years of
British rule, the term subsuming changes
occurring at different levels...technology,
institutions, ideology and values”. There
were different kinds of Westernisation.
How did Westernisation impact different

sections of Indian society? )

18.Social movements often arise w1th tl}e aim
of bringing about changes on a PubllC
issue, such as ensuring the right Qf th‘ih
tribal population to use the forests or the

[. The modest growth rate of 1.33% from
1901 to 1951 indicates a period of
demographic stability before
independence.

II. The negative growth rate of -0.03%
between 1911 and 1921 had a
long-term impact on India’s overall
population dynamics.

II. The increase to a 2.2% growth rate
from 1961 to 1981 reflects the effects of
the post-independence demographic
transition.

The divergence of birth and death rates
starting around 1921-1931 is a clear
sign of a shift toward higher
population growth rates.

(@)Iand II (b) I and I1I

(c)I, I and IV (d) L, I, I and IV only

IV.

Section B Very Short Answer Type Questions (Each Que. carries 2 M)

right of displaced people to settlement and
compensation. :

Highlight the basic reason for the rise of
old social movements during 1970s in
India.

(2)

19. Adivasi experiences of marginalisation

and their sense of injustice were mobilised
to create a shared Jharkhand identity and
inspire collective action that eventually

led to the formation of a separate state. E
How did literate adivasis contribute to the
movement for the formation of

Jharkhand?
(2)
20. India like most societies has been marked
by acute practices of social discrimination
and exclusion. State two examples of Dalits
experience forms of exclusion that are
unique and not practiced against other

groups. (2)
21. Castes are traditionally linked to
occupation. Explain. (2)
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| 92. Social movement can be cl &
J redemptive, reformist and revolutionary.

Right to Information campaign is an .
example of reformist social movemen
Bolshevik revolution is an example of
'I revolutionary social movement. Define

term ‘Redemptive’ in the context of social
(2)

assified as

ta l'lti

the

movement in India.

. A considerable part of ritual in India has
direct reference to the pursuit of secular ends
though rituals have also secular dimensions
as distinct from secular goals. How do rituals
in contemporary society serve both social

and status related to functions? (2)

§QMC_ Short Answer Type Questions (Each Que. carries 4 M)
dto 29. Community identity is based on birth and

26. The term agrarian structure is often use
refer to the structure or distribution of
landholding. Because agricultural land is
the most important productive resource in
rural areas, access to land shapes the rural
class structure. Access to land largely
determines what role one plays in the
process of agricultural production.

Explain major types of landholdings .
Elaborate your answer in context of the

agricultural structure of Indian rural society.
(4)

27. The diversity of India shapes the different

ways that modernisation, sanskritisation or
secularisation effects or does not affect
different groups of people. Explain the
concept of the secularisation of caste in
contemporary India and how it differs
from its traditional role within a religious
framework, (4)

Or Compare and contrast the socio-economic
conditions of tribals before and after

Independence. (4)

2B. India has experienced a whole array of

social movements involving women,
peasants, dalits, adivasis and others. How
can the women’s movement in India be

classified as a new social movement? (4)

24

295.

30.

31.

32.

ays a crucial role in

Civil society pl ;
state is accountable tg the ‘

ensuring that the
nation and its peoplf:_
criteria for an organis
part of civil society?
There are direct linkage between the

f agriculture workers and then

What are the main
ation to be considereq 1‘

(2)
i

situation O : :
lack of upward socio-economic mobility,

Name some of them.

Or

(2)

What are the potential drawbacks of
contract farming despite its financial
security for farmers?

‘belonging’ rather than on some form of
acquired qualifications or
‘accomplishment’. It is what we “are’ rather
than what we have ‘become’.

Highlight any two common features of
‘ascriptive identity’.

Social inequality is not the outcome of
innate or ‘natural’ differences between
people, but is produced by the society in
which they live. “Social stratification
persists over generations’. Explain @
Another way of increasing outputisby =~
organising work. An American called :
Frederick Winslow Taylor invented a new
system in the 1890s, which he called
‘Scientific Management'. It is also known as |
Taylorism or industrial engineering.
How did Frederick Winslow Taylor's .
system of “Scientific Management’ change |
the organisation of work? 4 |

(4)

The multi-religious and multicultural £
composition of the Indian population with |
distinct streams of tribal culture is one 2
aspect of the plurality. How does India’s

constitutional framework accommodate

regional sentiments and autonomy within
its federal structure? 4




. Analyse the given table an

: ; d ans
following questions. i the

Age Composition of the Population

of India, 1961-2026
Year _Age Groups Total
0-14 Years 15-59 Years 60+ Years
1961 41 53 6 100
1971 42 53 5 100
1981 40 54 6 100
1991 38 56 7 o0
2001 34 59 7 el
2011 29 63 8 L
2026 23 64 12 L

Age Group columns show percentage shares;

Source Based on data from the Technical Group
on Population Projections (1996 and 2006) of the
National Commission of Population.

Webpage for 1996 Report:

http//populationcommission.nic.in/facts.1 him

(a) What was the percentage change in the
share of the under 15 age group in the
Indian population between 1971 and 20117

(b) How does India’s demographic profile
compare globally, particularly in light of the

shifts in age composition from 2001 to 20262
(2)

rows may not add up to 100 because of rounding.

._ Cth_ﬂ__ D Long Answer TVPE Questions (Each Que. carries 6 M)

34. Gandhiji on machinery, in Hind Swaraj 1924
““What I object to is craze for machinery, not
machinery as such.

The craze is for what they call labour saving
machinery. Men go on ‘saving labour” till
thousands are without work and thrown on the
open streets to die of starvation. I want to save
time and labour, not for a fraction of mankind,
but for all. I want the concentration of wealth,
not in the hands of the few, but in the hands

of all.

When as a nation we adopt the spinning wheel,
we not only solve the question of
unemployment but we declare that we have no
intention of exploiting any nation, and we

also end the exploitation of the power by the
rich”.

Based on the given passage, answer the
following questions.

(a) Given an example of how machinery creates

a problem for workers? 3)
(b) Discuss industrial society and different
views of theorist on it. (3)

35. What do you mean by urbanisation? What are
the situations according to sociologist MSA Rao
under which village experiences the urban
impact in India? (8)




